




























































































406
500
510
H20
Hw30
S40
350
5460
957G
a80

G590
400
410
620
&30
&40
&50
660
670
580
690
700
710
720
730
740
790
240
770
780
290
800
810
820
830
840
8450
040
870
8eo
890
?Q0
210
220
230
@40
P50
&0

FRINT *Is this data to be in?! l=arithmetic scales*

FRINT * 2=logarithmic scale *

FRINT * I=calendsar scale (x-axis onlwy) 7°
FRINT "Enter as x-scalesu-scale.'

INPUT L3sL4

GO TQ 420

FRINT '"Insert tare and enter file number of control sedment.®
INFUT F1

FIND F1

INPUT 233:C%

INFUT @331H

INFUT @33iX$»Y%

INPUT @33:01sR1IsL3sLAYCsDsEsFsT1sT25U1sU2yK3sKASESIESYE7SES
I=0Q

FRINT *"Tio wou wish to read data in from the keubhoard?"
INFUT A%

I4=SEG(AS» 1y 1)

IF Di$="w" THEN 1170

REM X% TAPE INFUT

FRINT *Insert tare and enter file rnumber of inPut.*
INFUT F2

FIND F2

INFUT B33 IN%

PRINT N$%

Cea=Cg" "

Ce=CHENS

H=LEN{C%)

{iN EQF (0) THEN 1110

N=N1

0S=1

FRINT "How manw columns are there in this dats set? Ur to 4 2llouwed”®
INFUT Cé

IF Cé+2 THEN B840

N=N+1

I=1+1

INPUT @331S(IsN)sT(IWN)

GO 7O 830

FRINT *How manw columns of w-date are to be read? Ur to 3 allowed®
INFUT C5

FRINT *Which columns contain the #~ and wl-values?®
INFUT C1,C2

IF CS=1 THEN 960

FRINT *"Which column contains «2-values?’

INFUT C3

IF CS=2 THEN 940

FRINT *Which column contains w3-values?"

INFUT C4

N=N+1
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70 I=I+1
980 IF Cé=4 THEN 10190

290

100D
1G10
1020
1030
1040
1050
10O40
1070
1080
1090
11060
1110
1120
2130
1140
1150
1140
1170
118¢C
11%0
1200
1210
1220

1230
1240
1250
1260
1270
1280
1290
1300
1310
1320
1230
1340
1AS0
1340
1A70
13820
1390
1400
1416
1420
1430
1440

GO TO 1020

INFUT R3320, Z(2) 203

INFUT B321Z01)YoZ2(23 220302040

S(IsNY=Z(CL)
TCIsMI)=Z (0D

IF Ch=1 THEN %70
TCIeN+HLY=Z(CT)
SOTeN+LI=8(Y N2
IF Ch=2 THERN 970
TOIsNE2)=2Z(C4)
SUT s N+2Y=35(Ts N
G T 920
N1=N14+05

Tl -3

FOR N=N1-CS+1 TO NI
N2 iN) =1

HEXT M

G0 TO 1580

REM %% REYEBOARD DATA ENTRY
FRINT *How meny columns of w-date are to be entered?*
FRINT * Ur to 3 allowed®

INFUT CF

IF NI+CH-1<=M2 THEN 1240
FRINT *Too many curves desired "

GO 70 1180

FRINT *Enter datas values ass

Mruleuwlr e e

FRINT * after the lsct rair has heen

IF L3<3 THEN 1280

FRIMT *Enter calendar

N=N1

INFUT K¢

IF K$=T% THEN 1570
Ll ENCRSED
Fl=rRs{Kses s "sl)
IF P10 THEN 13350
Fl=FOQE5(K$s" *s1)
LE=8EG(KEs1sF1~17
I=1+1
SeINL+1) =uUaL (L%
N=N+1

T2t

EG(R$ P21

IF Ré=" " THEN 1400
IF M=U5+N1 THEM 1480
Fl=FOS(KE»"s"»F2)

date values
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1450
14469
1470
1480
1450
1500
1510
1520
1536
1540
15589
1540
1370
1480
1590
1400
1610
1429
1430
1640
14630
1540
167

1480
1690
L 700
1710
17220
1720
17490
17450
1760
17270
1780
1790
1800
1816
1820
1230
184¢
1850
1860

1870
1820
1690
1900
1910

1520

IF P14x0 THEN 1490
PFI=FOS(K$y " "sF2)
GO TO 1490

Fil={+1
LE=SEGI(RE»P2HyF1I-FP2)
TCIaNY=VAL(LS)

IF N=N1+1 THEN 1530

S(IsN)=E(IsN~1)
Fo=pl

M2{N)=T

IF FP2<=L AND N<CS5+N1 THEN 1380
IF I<M1 THEN 1280
N1=N1+CH

N=N1-0%H41

REM ¥%XSHELLSORT THE DATA ON S(I.NC(INIT))
OD1=27INT(LOG(I)/7LOG(2)+1)
DI=INTC((DI-1)/2

IF D1=0 THEN 1900
T1=INTCI~D01)

FOR I2=1 T0 It

J=I2

Li=g401

IF S(L1-NI)=28C0JsyN) THEN 1880
B1=8CJrN)

TE3=T e ND

IF C3=1 THEN 1740
T4=T(JsN+1)

IF CSB=2 THEN 1740

TO=TCJy N+

Sl NY=G(LI N2
TCJeNI=T (L1 N)

IF C3=1 THEN 1800
TOdeN+LY=T(LI» N1

IF ChHhi=2 THEN 1800
TOdoN+2Y=T (L1 N+2)
SCLIsNI=S1

TCLIsNY=TR

IF CH=1 THEN 1840
TCLLeNAL)=T4

TF CH=32 THEN 18640
TOLL1eN$2)=TS

NN S U]

IF Jx0 THEN 14840

NEXT 12

GO TO 1&10

FRINT "Do wou want to list the deota values
INFUT E$

I$=CEG{RBEs1+1)
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193¢ IF D$=°*n* THEN 3010

1940 FRINT "Select listing formati-*

1250 FPRINT * E - for exronential’

19260 FPRINT * F - for fixed decimal (46 digits to right of roint)®
1970 INFUT Q%

1980 IF D$="r* THEN 3010

19290 FAGE

2000 PRINT "THE DATA VALUES®

2010 N=N1-CS+1

2020 IMAGE 2T»A212T A 27T Ay 200 AST»A» 202 40T A 21
2020 PRINT USING 202010 "X s *Y*"sNs"Y s N+1s"Y "y N+2
2040 FOR J=1 TO 1

2050 N9=N

2040 IF O%="E* THEN 2090

2070 PRINY USING "3Dy2X 280,860 3X0 81Uy S(Js NI »T(J NG
2080 GO TO 2100

2090 FRINT USING "3Ds2Xy2¢(8Es3X)58" 1 UsS(JND) s TCJI NS
2100 N9=N9+1

2110 IF N9:=N1 THEN 2170

2120 IF Q%="E" THEN 2150

2130 PRINT USING "4&D.&DS " 1T(JdsND)

2140 GQ TO 2180

2150 PRINT USING "SE,3Xs8"1T(JsND)

21460 GO TO 2100

2170 PRINT USING /"¢

2180 NEXT J

2190 REM ¥XEDITOR

2200 PRINT *Is any editindg required?®

2210 INFUT EB$

200 DE=SEG(R$s121)

2230 IF Ds="n" THEN 2010

2240 PFRINT "Editing must be dore on ezch Hyuwlsuwly,... data set®
2250 PRINT * g% & unit*

2260 N=N1~-CH+1

2270 PRINT "MNistart)="3sN

2280 REM XXCHANGE DATH

2290 PRINT *Index of data to be changed ="3

2300 INFUT J9%

2310 IF Js="" THEN 2420

DAZ0 J=VAl(Je)

SEIOOTF J=>1 AND J==1 THEN 2360

2340 FRINT *Index is out of rande®

F350 GO TO 2290

23560 FRINT "CURRENT VALUE OF S{*#J5 s "sNi")sT{ 55 s Ns"ds...15 *"
SX70 N9=N

2280 GOSUR 8990

2390 PRINT '"Chandge to °

2406 BOSUR 8200

2410 GQ TQ 2290

2420 REM ®XXAFFEND DATA VALUE
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2430
2440
2450
2460
2470
2480
2490
2500

2510

25290

2530
2540
2550
2560
2570
2580
2590
2600
2610
2620
2630
2640
2450
2660
2670
24620
2450
2700
2710
2726
2730
2740
2750
2760
2770
2780
2790
2800
2810
2820
2830
2840
2850
2860
2870
2880
2890
2900

IF I<M1 THEN 24460

FRINT *Arraus are filled"

GO TO 2510

FRINT *Enter values of item to be arrended
I=N2(N)

N9=N

GOSUR 2080

N2(N)=1I

REM XxDELETE DATA
FRINT '"Index of item to bhe deleted ="}
INFUT J$

IF J$="" THEN 2720
J=VAL (J$)

IF J=>1 ANDI J<=1 THEN 2590
FRINT "Index is out of randge"
GO TO 2520

FRINT "VYalue deleted ="3j
N9 =N

GOSUR 8990

IF J=1 THEN 2690

FOR K=J+1 TO I
S(K-1sN)=G(KsNJ

FOR N9=N1-CS+1 TO Ni
T(K=-1sN?)=T(KsN?)

NEXT N9

NEXT K

I=I-1

N2(NY=1

GO TO 2520

REM XXINSERT DATA

IF 1<M1 THEN 27640

FRINT *Arravs are filled®
GO TO 1990

FRINT *Index of item to be rreceded ="3#
INFUT J4

IF Jg="*" THEN 1990

J=VAL (J%)

IF J=>1 AND J<=1 THEN 2830
FRINT "Index is out of range’
GO TO 2720

FOR K=1 TO J STEFP -1
S(K+1yNI=S(KyN)

FOR N?=N TO NI
TIR+1 NI =T (KsN?)

NEXT N¢

NEXT K

T 141

N2(NJ=1T
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o910
2920
2930
2940
2930
2960
ne70
2980
2990
3000
3010
3020
3020
3040
2050
3060
3070
2080
3090
3100
3110
3120
3130
2140

3150
1160
2170
3180
3190
3200
3210
3220
3230
3240
3250
22460
3270
3280
3250
3300
3310
3320
3230
3340
3350
3360
3370
3380

FRINT *Enter values to be inserted (xrulsulye.ed*
GOSUE 8900

GO TO 272

IF C5=1 THEN 3019

FOR N9=N1-CS5+2 T0 N1

FOR J=1 TO N2((N)

SCJNDI=E(IyNL1-C54+1)

NZINFI=N2(NI1-CS+1)

NEXT .

NEXT N9

FOR N=N1-CS54+1 TO N1

FRINT *Curve no. "iN

FRINT "Enter ture of rlot wanted: 1=roints,*

FRINT * 2=linesy"

FRINT * I=zpoints and lines.®

INFUT M(ND

IF M(NY=2 THEN 3240

S2(N)=0

FRINT *Ernter desired sumbol. Anuy ASCII character or DRAW if*
PRINT * drawn sumbol is desired |

INPUT M4

IF M$="DRAW" THEN 3160
Z2$=8EG(MEs151)

AINY=ABC(Z%)

GO TO 3220

FRINRT *Enter desired drawn sumboli®
FRINT °* 1 - dismond"*

FRINT * 2 - sauare"

FRINT * 3 - triandle ur"

FRINT * 4 - triangle down "3

INFUT S2{(N>

FRINT "Enter the frecuency of sumbol erlotting. Everw nth roint®
FRINT * after the first "3

INFUT IS(N)

IF M{N)Y=1 THEN 3400

M4=MEMORY

IF 13%XN2¢(NY-25<=M4 THEN 3310

FRINT "Insufficient memorw for srline fit for curve "N
WH(NI=0

GO TQ X400

FRINMT *Do you wish & cubic srline fit of the dasta for 38 smooth"j
FRINT * #lot?*

INFUT R%

E$=SEG(R%s151)

WS (NY=0

IF E$=*n" THEN 3400

FRINT *Enter number of roints to be srread over x-range "
FRINT * for srline curves °
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IXP0
2400
3410
3420
3430
3440
3450
34460
3470
3480
3490
3500
3510
3520
IHIC
3340
EHE0
3540
3970
3580
3H90
34600
I&10
34620
AE:30
3640
34550
36460
3870
3480
3490
3700
3710
37220
3730
3740
3750
3760
3770
3780

37270
3860
38190
3820
3830
3840
850
3840

INFUT WS(N)

NEXT N

N=N1--C5+1

REM XXWRITE DATA TO TAFE

FRINT *Do 4ou wish to have the data saved (resaved) in 2 file?®"®
FRINT * (automatic marking of file)"®
INFUT W%

[$=8EG(W$s1,1)

IF D$="m" THEN 3660

FRINT ‘*Enter title for data save file (ur to 72 cheracters)’
INFUT N%

FRINT *Insert tare and enter file rnumber for datz save file."
INPUT FZ

FIND F3

MARK 1»18¥%IT¥(N1I+1)+LEN(NS)

FIND F3

FRINT @33IN%

FOR K=1 TO N2(N)

IF CSx1 THEN 3600

FRINT @3318(KyN)»T(KyN)

GO TO 34649

IF Cu%>2 THEN 3630

PRINT B33:18(KsN) s T(KsN)» T{(KsN+1D

GO TO 3640

FRINT B33!S(KsNI»T(RKIN) sy T(KyN+1) s T{RKsN+2)
NEXT K

CLOSE

TF N1=M2 THEN 3710

FRINT ‘Do gou wish to rlot snother dats cet?®
INPUT A%

[$=-SEG(Ass1+1)

IF Dé="uw" THEN 620

IF F$="w" THEN 4050

REM ¥%FIND MINIMUM AND MAXIMUM VALUES
C=1,0E+61

[i=-1,0E+61
E=1.0E+41
F=~1.,0E+61

FOR K=1 TO N1
C=C MIN S(1+K)

=0 MAX S(N2(K)sK)

FOR J=1 TO N2(K)

E=E MIN T{(JsK)

F=F MAX T(JsK)

NEXT J

NEXT K

FRINT *Minimum and maximum values of ¢ arel’
IMAGE fd.fd»25tyfd.fd
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3870
3880
3890
3900
3910
3920
3230
IeAl
3980
3640
3970
3980
3290
4000
401¢
4020
4030
4040
4050
4040
4070
4080
4090
4100
411¢
4129
4130
4140
41350
4160
A170
4180
4190
4200
4219
4220
4230
4240
42356
A260
4270
4280
4290
4300
4410
4220
4330
4340
4350
4350

PRINT USING 38460:CysD

FRINT *Minimum and maximum values of u aretl’
FRINT USING 38460tEsF

FRINT *Do wou wish automestic tic and axic labels?*
IF L33 THEN 2930

FRINT "Calendar 3xis will be sutomaticslly scaled®
INFUT H¢

I$=8EG(H$+1-1)

IF I¢="2* THEN 4030

FRINT *Do wou wish to change these limitg?*
INFUT A%

DE=SEG(A%s1s1)

IF D$="m* THEN 4050

IF L3=% THEN 4030

FRINT "Enter minimum and maximum values of % as umirsxmax."
INFUT Cs@i

FRINT "Enter minimum and masximum values of 9 3o wyminsumay."
INFUT EfF

IF L3<x2 THEN 4170

REM XXTAKE LOG10 OF THE DATA IF REQUIRED
C=INTOLGYLC) )

i=D

TINTCLGT(D2+1,0E-10)

I¥ ARS(LGT(DL))-D)<2,0E~-10 THEN 4120

D=D+1

FOR K=1 TO N

FOR J=1 TO N2(N)

SCIIRKI=LET(S Iy KD

NEXT J

NEXT K

IF L343 THEN 4280

REM XXCALENDAR SCALE

FOR K=1 TO N

FOR J=1 TO N2((K)

Yi=INT(S(JsK)I/100)
X2=(8{JyK)/100-Y1)%X100/12-1/24

S{JsK)=Y14X?

NEXT J

NEXT K

C=1MT(C/100)

D=INT(D/10041)

IF L4=1 THEN 4390

E=INT(LGT(E))

Fi=F

Fa=XINTLGT(F)+1.0E~10Q)

IF ARS(LGT(F1)-F)=2.,0E~-10 THEN 4340

F=F+1

FOR K=1 TO N

FOR J=1 TO N2(N)

TCIoR)=LBT(T{JIPK)D)
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4370
4380
4320
4400
4410
4420

4430
4440
4450
4460
4470
4480
4490
AG00
4510
4N20
4530
4540
45350
45460
4570
4580
4590
4400
4610
44620
4430
44640
4550
4640
45670
44680
4490
4700
4710
4720
47340
4740
4750
A7&0
4770
4780
4790
A800
481Q
4820
A530
AU40

NEXT J

NEXT K

IF Fé¢="«* THEN 5300
Uil=0Q

IF L33 THEN 4430
Uil=12

Ti=1

U2=0

T2=1

ES5=0

Eé=1

E7=0

E@=1

KE =1

WES

IF L3=2 AND L4=2 THEN 5130
IF It="w* THEN 4600

FRINT *Enter number of data units between

lzbeled tick markg—--"

FRINT "Enter as?! x~unitssu-unites. (0-if los scalesi-if calendar)®

INFUT T1,7T2

FRINT "Enter number of subdivisions between labeled tick markg-—-"
FRINT "Enter a2s! xrw (0-if lodg scalesyl2-if calendar scale)"

INFUT UilsU2

DELETE F

niM Fig)

Fi1y=0C

FeR2Y=D

F(3)=T1

FEG)y=E

FO&)=F

Fe7)1=T2

FOAY=INT((V2~-V1)/1.8) MAaX 1
FE8Y=INT((V4-V3)/1.8) MAX 1

IF I$='rn" THEN 4780

REM XkAUTOMATIC TIC INTERVALS AND LARELS
FO2)=INT((VU2-V1)/(8%1.8)) MAX 1
FOZy=INT({V4-U3)/(3%2.8)) MAX 1
REM %%X-~-AXIS

Fh=3

IF L3=2 THEN 48%0

IF L3=3 THEN 4840

GOSUR 7900

Gosulr 8190

C=r{12

L= (2

fl=F{3X)

KG=F(4)

Ui=T1/X9?
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48%0 GO TO 4890

860 Ti1=1

4870 U1=12

4880 REM %xY-AXIS

4890 PS=7

4900 IF L4=2 THEN 4980
4910 GOSUB 7900

4920 GOSUR 8190

4930 E=P(3)

4940 F=F(6)

4950 T2=F(7)

49460 Y9=F(8)

4970 U2=T2/Y9

4980 REM %xx SELECT LABEL FORMAT
4690 REM %%kX-AXIS

9000 PS=3

3010 IF L3=2 OR L3=3 THEN 5070
5020 GOSUR 8330

5030 ES=F(1)

3040 E&6=F(2)

3050 K3=F(4)

5060 REM ¥xY-AXIS

5070 FS=7

5080 IF L4=2 THEN 5130

5090 GOSUEB 8330

2100 KA=F(8)

5110 E?=P(5)

5120 E8=F(48)

5130 FRINT *Do wou wish to make a control file containing the'
95140 PRINT "rrevious information?®

3130 INFUT Hs¢

5160 D$=5EG(H$,1,1)

<9170 IF D$="n* THEN 5300

5180 PRINT *Insert tare and enter file number for the control file.,®
5190 FPRINT *(Automatic marking of tare filel)"®

5200 INPUT F1

5210 FIND F1i

5220 MARK 1,72+418+42%72+18%18

5230 FIND F1

5240 FRINT @33:C%

5250 PRINT @33:H

%5260 PRINT @331X$

5270 PRINT @33:Y¢

9280 FRINT 233:Q1sRIsLIsLAsCoDrESsFyT1yT2yU1,U2sKTsK4
5290 FRINT @IJLESSESLSE7HESR

5300 REM Xx¥CONSTRUCT THE FLOY

%310 FPAGE

$320 N=N1
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3330 REM XXFRINT THE TITLE

G240 MOVE 70-65/73%MHs78

G330 FRINT C4

G380 IF L3=3 THEN 5400

BE70 MOVE 70-65/73%Q1+3

G380 REM X¥FRINT THE X-aAXIE LAREL
G390 FPRINT X¢

w400 JF Eé=1 THEN G440

3410 MOVE 70+473/65%0153

G420 FRINT USING S430:ES

3430 IMAGE " (¥E°s+fdsm) "

G440 HEM XAFRINT THE Y-AXIS LAREL
5450 FOR J=1 TO R1

5460 MOVE 2y (R1+1-D)%20/74+(35-R1)%10/7
G470 SE=SEG(Y$,Jd91)

480 FRINT S84

G450 NEXT J

GgE00 IF EB=1 THEN 3530

GH10 MOVE Oy (R1I+2-D1)X20/74+(35-R1-20%10/7
3920 FRINT USING 5430:1EY

9030 VIEWFORT V1sV2-1,V3yV4-1
5540 C2=ARBS(D-O)

58550 E2=ARS(F-E)

UH60 WINDOW CsDvESF

70 IF DRC OTHEN G430

5580 FOR K=1 TO M

H90 FOR J=1 TO N2IN)

SE00 S(deKI=D-85(JsKI4C

H610 NEXT J

NE20 NEXT K

U630 IF FE THEN 5690

640 FOR K=1 TO N

&S0 FOR J=1 70O N2(N)

HEE0 T(JeK)=F-T(JsRKIHE

5670 NEXT J

BEBO NEXT K

S5490 IF U100 THEN 5720

5700 X9=D-C

%710 GO TO 5730

5720 X9=T1/U1

U730 IF U2:0 THEN G740

5740 Y¥=F-E

750 GO TO 5770

G760 Y9=T2/U2

G770 AXIE X9yY%0sE

G780 VIEWFORT V1,V2,V3004

3790 WINDOW CrD+0.01XC2yE»F+0.0125%E2
9800 REM ¥% X TICES MAJOR
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BB10 LE=C2/71

5820 IF L3=2 THEN 35880

830 FOR N9=1 TO LS

GE40 MOVE TI1XNY+CHE

G850 RDRAW CGrE2%3I/80

JEE0 NEXT N9

3870 GO TO 5970

B8O HI=E2¥%1/40

G890 H=C

9900 FOR I=10"H TO 107 (H+1) STEF 107H
G910 MOVE LGT(I)E

w220 RIDRAW 0OsH1

P30 NEXT I

3940 H=H+t1

G950 RIRAW O 2%H1

940 IF H<D THEN 5900

9970 FEM %% Y TICS MAJOR

5980 L&=E2/T2

G990 IF L4=2 THEN 60350

6000 FOR N9=1 T0 L&

6010 MOVE CrT2XN9+E

5020 RDRAW C2%3/710050

6030 NEXT N9

4040 GO TO &130

6050 HI=C2%2/100

6060 H=E

4070 FOR I=10"H TO 107 (H+1) STEF 107H
6080 MOVE CyLGT(I)

o070 KIRAW H1,0

G100 NEXT I

110 H=Ht1

6120 RORAW 2%H1+0

6330 IF H<F THEN 4070

4140 REM xXLAREL THE MAJOR TIC MARKS
6150 YO=E-E2/14

6160 REM *XLAREL THE MAJOR TIC MARKS
4170 V1=C

6180 V2=

6190 V3I=(C

H200 Va=E

6210 IF L3=3 THEN 6420

6220 FOR J=1 T0O LG+1

6230 MOVE V3-39/730%C2yY5

6240 IF L3=2 THEN 4330

4250 IF K3>1 THEN 4280

260 FRINT USING "Sd"IVIXES
4270 GO TO 4350

6280 IF K3x2 THEN 46310

6290 FRINT USING "2d.2d"3V1XES
6300 GO TO 6350
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6310 FRINT USING "1d.308":1V1XES
6320 GO TO 6350

6330 FRINT USING 6340:V1

6340 IMAGE “1.E"s+fd

6350 IF D>C THEN 6380

4360 Vi=V1-T1

4370 GO TO &390

6380 V1=V1+T1

6390 V3I=V3+T1

6400 NEXT J

4410 GO TO 6630

6420 REM ¥%%CALENDAR AXIS

6430 FOR K=1 T0 C2

6440 M3=0

6450 FOR J=1 TO 12

6480 MOVE V3~0,.05%C2%1.79/100+41/245Y3
6470 M3=M3+1

6480 U$=8EG(V$sM3s1)

4490 FRINT USING *A"iU$

6300 V3=V3+1/12

6510 NEXT J

6520 NEXT K

4530 V1=C

6%40 V3=C

60350 FOR J=1 TO C2

6560 MOVE VI+0.35-2%XC2%1,79/100yY5-E2/14
6570 IMAGE "19",2D

6580 FRINT USING 6570:V1

4590 V3=V3+1

6600 V1=V1i+1

6610 NEXT J

6620 REM XXLABEL THE MAJOR TIC MARKS Y-AXIS
6630 X5=C-C2%(78/730)

6640 FOR J=1 TO L6é+1

64650 MOVE X35,V4-ERQ/56

6660 IF L4=2 THEN 67350

64670 IF K4x1 THEN 6700

6680 FRINT USING “Sd*iV2%ES
6690 GO TO 6760

6700 IF K4:>2 THEN 6730

4710 PRINT USING "24.2d":V2XES
4720 GO TO 6760

4730 FRINT USING "1d,3d":V2%ES8
6740 GO TO 6740

6750 FRINT USING 6340:V2

4760 IF F*E THEN 6790

6770 V2=V2-T2

4780 GO TO 46800
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6790 V2=V24T2

&80Q V4=Y4+4T2

6810 MEXT J

6820 FOR K=1 TO N

4830 IF MIK)=2 THEN 4950

6840 WINDOW CryD4+0,.01%C25EsF+0.0125%ED
6830 REM X¥FLOT THE SYMROLS

6840 FOR J=1 TO N2(K) STEF IS(K?

4870 IF S(J»K)<C OR S(JoK):DIN THEN 4930
6880 IF T(JsK)<E OR T(JsK)XF THEN 4230
6890 MOVE S(JsK) e T(JsK)

4900 SCALE 1.5,1.5

69210 GOSUER 8510

6720 WINDOW CoD+0,.01%C25E,F+0,0120%ED
6930 NEXT .J

6940 IF M(K)=1 THEN 7080

4950 IF WS(KY>0 THEN 7020

4960 REM XXFLOT THE LINES (STRAIGHT LINE SEGMENTS)
6970 MOVE S(1sK)sT(1,K)

6980 FOR J=2 TO N2(K)

6990 DIIRAW S{JrK)sT(JrK)

7000 NEXT J

7010 GO TO 7080

7020 GOSUR 7120

7030 REM XXSPLINE FIT CURVE

7040 MOVE P(1),Q(1)

7050 FOR J=2 TO Wé

7060 DRAW FOD Q0D

7070 NEXT J

7080 MEXT K

72090 Ge=""

7100 FRINT G3%

7110 END

7120 REM XXSFLINE FIT SUBROUTINE
7120 IF N2(K)=»4 THEN 7170

7140 MOVE Cs<CE4+FY/2

7150 FPRINT *Insufficient number of roints for selinme fit"
7140 STOF

7170 L1=N2(K)~-1

7180 DIM AO(L1Y»ALLLLY »AZ(L1)sA3C(LL)
7190 R=N2(K)~-2

7200 DIM VS(RX3I-2YyVE(RI V2 (RXI-2Y,VB(RY$H2(L1)
7210 FOR J=1 TO L1

7220 H2( =801 »K)-E(J»K)

7230 NEXT J

7240 VELY=2X(H2(2Y+H2 (LYY /H2(2)
7250 IF VS(1)<-0 THEN 7270

7260 VS(1)=V5(1)+1.0E-4
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7270
7280
7290
7300
7310
7320
7RO
7340
7350
V60
7370
7380
7390
7400
7410
7420
7430
7440
FAE0
TAK0
7470
7480
7490
7500
7510
7H20
7EE0
7540
PG
7540

7570

7580
THOO
7400
7610

FHRA0

F&E20
7&HA0
FEE0
76460

R
.r? \'LJ 7/

74680
7490
7700
7710
730
7730
7740

VE(I) =1

WEL )=/ H2{2 RT3y KD =T(2s K /H2(2) - (T(2yK)=-T(L1,KI)/H2(1D)
FGR J=2 TO R

Ki=3%J

VE(KL-4)=H2(J) /H2 U+
VSIRI-2)=2%(H2(J+ 10 4H2 O 3 /H2CJ+HL)

IF J=R THEN 7330

VEINL =1

H3=H2 (1)

VELD) =& /H2 01 R C(TCUH2 s KDY =TI+ 1 s KD /HZCUH1) (T CI4 LK) -T(J K3 DI /H3)
NEXT J

U721y =5(1)

Kl=2

Je=3

M7 IRL=UG(K1)

YAIRLIFL ) =VS(K1+1)/V7(KL~1)

U2 {RIA2Y =05 (K1I+2)-V2 (K1Y XVUZ(K1+1)

NENEN

Fl=K1+32

IF J<=R THEN 7410

VB =Va {1/ V701

FOR KR1=2 70 R

VBRI = (VERLI-V7 (TRKL1-4IKVB(KLI-1) ) /V7 (3%K1-2)
NEXT K1

FOR K1=2 T0 R

JER-K1+1

VB r=V8C -V (3x D XVE (41
NEXT K1

AL=0

FOR J=1 TO L1

IF =1 THEN 7390

AL=R4&

Bé&=0

IF J=L1 THEN 7620

B&=08(0)
Cé=T0+1» KI/H2L D -H2 (S KBS/ S

Da=T (o /H2OD -H2(JIXAGLS &

AOCD ={A&XE U+ KDY TI-REXS Uy RITI) A (EKH2 (U ~CHXE (I KI$DAXS (U+1+K)
AL =(B&XE(IsK)T2-ALXS (J+1sKIT2Y/(2XH2 (D)) +CE~D4
AU =CASKE(JHTI KDY -BEXE (IS KI D /A (2XH2(U))

A =(RBE-AL) /CEXHZ(U))

NEXT U

DELETE VBV V75 VBsH2sF 5 I

Wa=WS () +1

DIM PIWSY s Q(WE)

ME=N2(R?

GO= (B (NI KI-8C1s K AWE(KD)

FOk I=1 TO W&
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2730 F(I)=8C(1yKI+(I-1)%0G0

7760 I=1

7770 IF FC(IXY:>S(2,K) AND F(I)<S(L1sK) THEN 7820
7780 I=1

2790 IF PLZ)<8(L1sK) THEN 7860

7800 I=L1

7810 GO TO 7840

7820 FOR J=2 TO N2(K)

7830 I=J-~1

7840 IF F(Z)<=8(J»K) THEN 7860
7850 NEXT J

7860 Q(Z)=((AIC(DHXP(ZI+A2(IIIXF(ZI+AL (I IXP(Z)+AO(T)
7870 I=Z

7880 NEXT I

7890 RETURN

7900 REM XXNEAT TIC SUBROUTINE
7910 Fl=(P(F5-1)-F(F5-2))/F(F5)
7920 F2=10"INT(LGT(F1)+1.0E-10)
7930 F1=F1/F2

7940 IF F1>2 THEN 7980

7950 IF F1=1 THEN 8020

7960 F2=2%F2

7970 GO TO 8020

7980 IF F1:>5 THEN 8010

7990 P2=5%F2

8000 GO TO 8020

8010 F2=10%F2

8020 REM %% ADJUST DATA MINIMUM
8030 P1=INT(F(F3-2)/F2)

8040 F3I=F2%(F1+42)

8050 IF F3<{=P(F5-2) THEN 8080
8060 P3=F3-F2

8070 GO TO 8050

8080 F(F5-2)=F3

8090 REM %% ADJUST DATA MAXIMUM
8100 P1=INT(F(F5-1)/F2)

8110 P3=F2%(F1-2)

8120 IF P3=xF(F5-1) THEN 81350
8130 F3=F34P2

8140 GO TO 8120

8130 F(P5-1)=P3

8160 REM %% P(F3) - ADJUSTED TIC INTERVAL
8170 F(FS)=F2

8180 RETURN

8190 REM %% AUTOMATIC SURDIVISION INTERVALS
8200 P1=(F(FS~-1)-F(P5-2))/F(FS+1)
8210 P2=10"INT(LGT(F1)+1.0E-10)
8220 F1=F1/F2

8230 IF P1>2 THEN 8270

8240 IF P1l=1 THEN 8310
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8250
8260

B270
g2eo
22%0
8300
8410
BA20
8330
8340
8350
8340
8370
8380
83%0
8400
8410
8420
84390
8440
8450
8460
8470
B48y
3490
8500
8310
BHI0
8330
3540
§E50
8560
857¢C
8E80
8590
8500
8610
2620
8630
8640
B&50O
86460
Ba670
84680
B&90
8200
8710
8720

F2=2KF2
GO TO 8310

IF F1:8 THEN 8300

Fa=5%F2

GO TO £310

F2=10%F2

FOFS+1)y=pP2

RETURN

REM %% AUTO LAREL FORMAT SELECTION AND SCALING
D1=ARS(FP(F3-2)) MAX ARS(F(F3-1))
F(FS-2)=0

FI(FS-1)=1

F(FS+1)=1

IF INT(F(PS))-F(FS)=0 THEN 84640
F(FS+1)=2

IF ARSCINT(F(P3))~-F(F3))=30,01 THEN 8480
FIF3+1)=3

IF ARSCINT(F(FE)IFF(FB))=2>1,0E-3 THEN 8500
FOPS-2)=INT(LGT(DI11)+1.0E-10)
FOPS-1)=10"~-P(PG~2)

F(PS+1)=3

IF D1<100000 THEN 8500

GO TO 8430

IF (11100 THEN 8300

GO TO 8430

RETURN

REM XXS5YMBOL CHARACTER SELECT & DRAW
GO TO S2(K) OF 8600+84680:,8760,8830
REM *XCHARACTER

SCALE 151

Be=CHR(A(K))

RMOVE -0.5%1.55,-(5/8)%1.88

FRINT E$

RMOVE 0.5%1.85,5/8%1.88

RETURN

REM *XDIAMOND

RMOVE 1.4150

RORAW -1.41,-1.41

ROKRAW -1.41,1.41

RORAW 1.41+1.41

RORAW 1.41,-1.41

RMOVE -1.41,0

RETURMNM

REM *%¥SQUARE

RMOVE 1.1

RORAW 0,-2

RIRAW -250

RORAW 092
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j720
B740
8750
BIED
8770
g780
RIT0
88200
Ha1o
2620
FH30
8840
B850
840
5870
$a80
8390
3900

g¢10
BY20
BY30
Re40
BYEHG
25960
£

he

YO0RC
SO0
$100
2110
2130
?130
93140
7150
2140
Y170
9180
190
P00

RIORAW 250

EMOVE ~-1s-1

RETURN

REM X% TRIANGLE UF
RMOVE 051

RORAW 1»-2

EORAW ~220

RIORAW 1:2

FEMOVE O»-1

RETURN

REM ¥% TRIANGLE DOWN
RMOVE 151

ROFAW ~1s-2

RDRAW —~1e2

RORAW 220

FMOVE -1s~1

RETURHN

REM 3% INFUT OF X»2Y19Y20...

IF C3+x1 THEN 8240

ITHFUT SCdsNY T dsNY

RETURN

IF CH5x2 THEN 8970

THFUT SO0y s TN s TODeNTLD)

RETURN

THFUT SCOdyNY»TCAey NI o TCINFL ) TCI N2
RETURN

REM KKFRINTOUT OF AN XsY1s¥2s... SET FOR ONE J VALUE
PRINT SCJeNPI»T(IsND) 5

HP=NG+1

IF N9=N1 THEN 9050¢

FRINT TOJsHN®)

G TO 2010

FRINT USING "/%:

RETURN

REM M¥INFUY OF XoY1sY2». .. 4ITH CR FOR TERMINATION
INFUT K%

IF K¢=7T4¢ THEN %310

L=LEN{K4$)

Fi=FOS{KEs»" "y "1

IF F1>0 THEN %140

FLl=FOS(K$s* "y 1)

LE=SEGIRKE» 1o F1~1)

I=141

SCIyNTY=VAL (L)

FRep 1+l

ITF N9=N1 THEMN 230

Fl=FOS(K$» " " sP2i

IF P10 THEN 9240
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0210

=POE(RE, Y "y P2
TO %240

1=+

““hG(h$7F pFi-P2y
M?)““hi’l?i

oy o
[ 3]

ot

b S T it

gQL ANDE M7 C=pN1

rr R P r¢ ~ b D

N
IT4M1 THEM 9080
{RN

bl
-
=

OF FILE

THEN @170
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